PartS Catal O g Issued: Sep 13, 2016

ICC - Casegoods - Bed Frames

>

Yes, you can.




Parts Catalog Usage Guide

The information contained in this document is subject to change without notice. This catalog contains
service parts for Form No. 08-078. If you have any questions regarding this catalog, please contact one
of our Customer Service Representatives.

For Customer Service Support Call:
1-800-333-6900
For Faxed In Orders Call:
1-800-678-4682 or

1-440-366-0709

For Technical Service Call:
1-800-832-4707

Literature Can Be Found at:

www.invacare.com or

1-800-828-6272

SYMBOL DEFINITION

Throughout this catalog you will notice letters to draw your attention to specific footnotes which are located at the
bottom of the page or below specified charts.

Examples:
AB,Cetc. = Special Comments
NOTE: General information pertaining to that specific page
NLA No Longer Available

HARDWARE MEASUREMENTS

The measurements for the hardware will be listed as follows:
Screws, Bolts Diameter X Thread Count/Pitch X Length
Washers Inside Diameter X Outside Diameter X Thickness
Spacers Inside Diameter X Outside Diameter X Length

For your convenience, we have supplied an area for you to list your Invacare Representatives.

Name Phone Numbers

© 2016 Invacare Corporation. All rights reserved. Republication, duplication or modification in whole or in part is prohibited without prior written permission
from Invacare. Trademarks are identified by ™ and ®. All trademarks are owned by or licensed to Invacare Corporation or its subsidiaries unless otherwise
noted.

1

Form No. 08-078
To order call toll free 1-800-333-6900, or www.invacare.com



TABLE of CONTENTS

Description NE?\gbeer
3 Drawer Cabinet - Contemporary - Model IH23034 ..........cccciiiiieieee e 18
Bedend Assembly - Low Post - Models IH297-P-1 & IH297-P-4 .......cccoooiiiiiiiiieeee e 6
Bedend Assembly - Low Post - Models IH297-W-1 & IH297-W-4 ..........cooiiiiiiieeieee e 8
Bedend Assembly - Medium Post Headboard - Models IH297-P-5 & IH297-W-5 ................... 12
Bedend Assembly - Medium Post Headboard/Low Post Footboard - Models IH297-P-2 &

IH297-W-2 10
Bedend Assembly - Melamine - Models 230-P-4 & 230-P-7 .....oovveeiiiiiiieeeee e 3
Bedend Assembly - Models IH297-P & IH297-W ........ooiiiiiiiiiii e 4
Bedend Assembly - Models IHA97-P & ITHAQ7-W ... 14
Bedside Cabinet - Contemporary - Model IH23030 .........coooiiiiiiiiiiiieee e 16

2

Form No. 08-078 ]
To order call toll free 1-800-333-6900, or www.invacare.com



Bedend Assembly - Melamine
(Models 230-P-4 and 230-P-7)

Model IH230-P4
Model IH230-P7

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 1119712 Headboard Assembly with Molding, 230-P4 1 1
1 1119691 Headboard Assembly with Molding, 230-P7 1 1
2 IHB001637 Bumper, Recess, Grey 1 2
3 IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2
4 IHB002194 T-Nut, Cap (20-1/4") 1 8
5 IHB007478 Washer, Plated (1/4") 1 8
6 IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 8
7 1119871 Footboard Assembly with Molding, 230-P4 1 1
7 1119868 Footboard Assembly with Molding, 230-P7 1 1

3

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com




Bedend Assembly
(Models IH297-P and IH297-W)

Model IH297-P

%, 9

Model IH297-W

Form No. 08-078
To order call toll free 1-800-333-6900, or www.invacare.com



Bedend Assembly

(Models IH297-P and IH297-W)

Quantity Per
Iltem

Number | Note | Part Number |Description Package | Assembly

1 B IHA022674 Headboard Assembly 1 1

2 C IHAQ022722 Headboard Assembly 1 1

3 D IHB001637 Bumper, Recess, Grey 1 2

4 D IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2

5 B IHA022678 Footboard Assembly with Cut Out 1 1

AB A024953 Footboard Assembly without Cut Out 1 1

6 C IHA022721 Footboard Assembly with Cut Out 1 1

CA A024976 Footboard Assembly without Cut Out 1 1

7 D IHB002194 | T-Nut, Cap (20-1/4") 1 8

8 D IHBO07478 Washer, Plated (1/4") 1 8

9 D IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 8

NOTE: - Not Shown.

- Use with Model IH297-P.

A
B
C - Use with Model IH297-W.
D

- Use with both Models IH297-P and IH297-W.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

5




Bedend Assembly - Low Post
(Models IH297-P-1 and IH297-P-4)

Model IH297-P-1

Model IH297-P-4

6

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com



Bedend Assembly - Low Post
(Models IH297-P-1 and IH297-P-4)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 D A024957 Headboard Assembly 1 1
2 D IHB001637 Bumper, Recess, Grey 1 2
3 D IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2
4 B A024954 Footboard Assembly with Cut Out 1 1
AB A024958 Footboard Assembly without Cut Out 1 1
5 D IHA016534 Headboard Assembly, Low Post - Right 1 1
6 D IHA016533 Headboard Assembly, Low Post - Left 1 1
7 B IHA016537 Footboard Assembly, Low Post - Right 1 1
8 B IHA016536 Footboard Assembly, Low Post - Left 1 1
9 C IHA022678 Footboard Assembly with Cut Out 1 1
AC A024953 Footboard Assembly without Cut Out 1 1
10 B IHB017097 Cam, Shallow 1 12
11 D IHB007478 Washer, Plated (1/4") 1 8
12 B IHB014947 Bolt, Hex Head (20-1/4 x 1-1/2") 1 8
13 C IHB002194 T-Nut, Cap (20-1/4") 1 4
14 C IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 4
NOTE: A - Not Shown.
B - Use with Model IH297-P-1.
C - Use with Model IH297-P-4.
D - Use with both Models IH297-P-1 and IH297-P-4.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

7




Bedend Assembly - Low Post
(Models IH297-W-1 and IH297-W-4)

Model IH297-W-1

Model IH297-W-4

8
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 08-078



Bedend Assembly - Low Post
(Models IH297-W-1 and IH297-W-4)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 D A024979 Headboard Assembly 1 1
2 D IHB001637 Bumper, Recess, Grey 1 2
3 D IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2
4 C IHA022721 Footboard Assembly with Cut Out 1 1
AB A024976 Footboard Assembly without Cut Out 1 1
5 B A024977 Footboard Assembly with Cut Out 1 1
AB A024981 Footboard Assembly without Cut Out 1 1
6 D IHA016534 Headboard Assembly, Low Post - Right 1 1
7 D IHA016533 Headboard Assembly, Low Post - Left 1 1
8 B IHA016536 Footboard Assembly, Low Post - Left 1 1
9 B IHA016537 Footboard Assembly, Low Post - Right 1 1
10 C IHB002194 T-Nut, Cap (20-1/4") 1 4
11 D IHB007478 Washer, Plated (1/4") 1 8
12 C IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 4
13 B IHB014947 Bolt, Hex Head (20-1/4 x 1-1/2") 1 8
AB IHB017097 Cam, Shallow 1 12
CA IHB017097 Cam, Shallow 1 6
CA IHB014947 Bolt, Hex Head (20-1/4 x 1-1/2") 1 4
NOTE: A - Not Shown.
B - Use with Model IH297-W-1.
C - Use with Model IH297-W-4.
D - Use with Both Models IH297-W-1 and IH297-W-4.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

9




Bedend Assembly - Medium Post Headboard/Low Post

Footboard
(Models IH297-P-2 and IH297-W-2)

Model IH297-P-2

Model IH297-W-2

10
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 08-078



Bedend Assembly - Medium Post Headboard/Low Post

Footboard
(Models IH297-P-2 and IH297-W-2)
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 A024957 Headboard Assembly 1 1
2 A024979 Headboard Assembly 1 1
3 IHB001637 Bumper, Recess, Grey 1 2
4 IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2
5 C A024954 Footboard Assembly with Cut Out 1 1
CA A024958 Footboard Assembly without Cut Out 1 1
6 D A024977 Footboard Assembly with Cut Out 1 1
A.D A024981 Footboard Assembly without Cut Out 1 1
7 IHA016539 Headboard Assembly, Medium Post - Right 1 1
8 IHA016538 Headboard Assembly, Medium Post - Left 1 1
9 IHA016536 Footboard Assembly, Low Post - Left 1 1
10 IHA016537 Footboard Assembly, Low Post - Right 1 1
AB IHBO17097 Cam, Shallow 1 12
A.B IHB007478 Washer, Plated (1/4") 1 8
AB IHB014947 Bolt, Hex Head (20-1/4 x 1-1/2") 1 8
NOTE: A - Not Shown.
B - Use with both Models IH297-P-2 and IH297-W-2.
C - Use with Model IH297-P-2.
D - Use with Model IH297-W-2.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

11




Bedend Assembly - Medium Post Headboard
(Models IH297-P-5 and IH297-W-5)

Model IH297-P-5

Model IH297-W-5

12
To order call toll free 1-800-333-6900, or www.invacare.com

Form No. 08-078



Bedend Assembly - Medium Post Headboard

(Models IH297-P-5 and IH297-W-5)

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 B A024957 Headboard Assembly 1 1
2 C A024979 Headboard Assembly 1 1
3 D IHB001637 Bumper, Recess, Grey 1 2
4 D IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2
5 B IHA022678 Footboard Assembly with Cut Out 1 --
AB A024953 Footboard Assembly without Cut Out 1 1
6 C IHA022721 Footboard Assembly with Cut Out 1 1
CA A024976 Footboard Assembly without Cut Out 1 1
7 D IHA016539 Headboard Assembly, Medium Post - Right 1 1
8 D IHA016538 Headboard Assembly, Medium Post - Left 1 1
9 D IHB002194 T-Nut, Cap (20-1/4") 1 4
10 D IHB007478 Washer, Plated (1/4") 1 8
11 D IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 4
A,D IHBO17097 Cam, Shallow 1 6
A,D IHB014947 Bolt, Hex Head (20-1/4 x 1-1/2") 1 4
NOTE: A - Not Shown.
B - Use with Model IH297-P-5.
C - Use with Model IH297-W-5.
D - Use with Model IH297-P-5 and IH297-W-5.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

13




Bedend Assembly
(Models IH497-P and IH497-W)

Model IH497-P

Model IH497-W

N

14

Form No. 08-078
To order call toll free 1-800-333-6900, or www.invacare.com



Bedend Assembly

(Models IH497-P and IH497-W)

Quantity Per
Iltem

Number | Note | Part Number |Description Package | Assembly

1 B IHA022674 Headboard Assembly 1 1

2 C 1119023 Headboard Assembly 1 1

3 D IHB001637 Bumper, Recess, Grey 1 2

4 D IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 2

5 B IHA022678 Footboard Assembly with Cut Out 1 1

AB A024953 Footboard Assembly without Cut Out 1 1

6 C 1119022 Footboard Assembly with Cut Out 1 1

AC 1119031 Footboard Assembly without Cut Out 1 1

7 D IHB002194 | T-Nut, Cap (20-1/4") 1 8

8 D IHBO07478 Washer, Plated (1/4") 1 8

9 D IHB011312 Bolt, Hex Head (20-1/4 x 3/4") 1 8

NOTE: - Not Shown.

- Use with Model IH497-P.
- Use with Model IH497-W.
- Use with both Models IH497-P and IH497-W.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

15




Bedside Cabinet - Contemporary
(Model I1H23030)

16

Form No. 08-078 .
To order call toll free 1-800-333-6900, or www.invacare.com



Bedside Cabinet - Contemporary

(Model IH23030)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A021402 Drawer Box Assembly 1 1
2 IHBO07308 Drawer, Plastic (16-1/2") 1 1
3 IHB011227 Screw, Phillips Flat Head (#6 x 1") 1 4
4 IHP015366 Strip, Filler 1 1
5 A021403 Drawer Assembly - Front 1 1
6 A014613 Complete Assembly - Top 1 1
7 IHP014639 Core, Back 1 1
8 IHA024145 Complete Crosspiece Assembly 1 1
9 A024142 Side Panel Assembly - Left 1 1
10 A024141 Panel, Side - Left 1 1
11 A021406 Complete Shelf Assembly 1 1
12 IHB007311 Glide, Plastic Drawer - Left 1 1
13 IHB015929 Screw, Phillips Pan Head (#8 x 3/4") 1 4
14 IHB004330 Bracket, Angle 1 12
15 IHBO07651 Screw, Hex Head (#10 x 5/8") 1 24
16 IHB003531 Glide, Plastic Tack (3/4 x 1/4") 1 4
17 A023006 Complete Bottom Assembly 1 1
18 A021398 Complete Toe Panel Assembly 1 1
19 A024144 Side Panel Assembly - Right 1 1
20 A024143 Side Panel - Right 1 1
A IHBO07309 Glide, Drawer Plastic - Right 1 1
21 A024828 Door Assembly - Left 1 1
22 IHB023733 Pad, Felt 1 4
23 IHB004149 Screw, Phillips Pan Head (#8 x 5/8") 1 8
24 A024829 Door, Panel - Left 1 1
25 IHB003895 Hinge, Ajax 1 2
26 IHB003054 Screw, Phillips Flat Head (#6 x 5/8") 1 2
27 A024832 Door Assembly - Right 1 1
28 A024831 Door, Panel - Right 1 1
A IHB003571 Pin, Shelf Support 1 4
NOTE: A - Not Shown.

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

17




3 Drawer Cabinet - Contemporary
(Model 1H23034)

18

Form No. 08-078 .
To order call toll free 1-800-333-6900, or www.invacare.com



3 Drawer Cabinet - Contemporary

(Model IH23034)

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A021402 Drawer Box Assembly 1 3
2 IHBO07308 Drawer, Plastic (16-1/2") 1 1
3 IHB011227 Screw, Phillips Flat Head (#6 x 1") 1 4
4 A021403 Drawer Assembly - Front 1 1
5 IHP015366 Strip, Filler 1 1
6 A014613 Complete Assembly - Top 1 1
7 IHP014639 Core, Back 1 1
8 IHA024145 Complete Crosspiece Assembly 1 2
9 A024135 Side Panel Assembly - Left 1 1
10 A024134 Side Panel - Left 1 1
11 IHB007311 Glide, Plastic Drawer - Left 1 3
12 IHB015929 Screw, Phillips Pan Head (#8 x 3/4") 1 12
13 IHB004330 Bracket, Angle 1 12
14 IHBO07651 Screw, Hex Head (#10 x 5/8") 1 24
15 A024136 Side Panel - Right 1 1
16 IHB003531 Glide, Plastic Tack (3/4 x 1/4") 1 2
17 A021412 Complete Toe Panel Assembly 1 1
18 A024137 Side Panel Assembly - Right 1 1

Form No. 08-078

To order call toll free 1-800-333-6900, or www.invacare.com

19




Invacare Corporation

Www.invacare.com

One Invacare Way Technical Support
Elyria, Oh USA 800-832-4707
44036-2125 Customer Service
800-333-6900 800-333-6900

Literature Orders
800-333-6900

© 2016 Invacare Corporation. All rights
reserved. Republication, duplication or
modification in whole or in part is prohibited
without prior written permission from
Invacare. Trademarks are identified by ™
and ®. All trademarks are owned by or
licensed to Invacare Corporation or its
subsidiaries unless otherwise noted.
(Revised 07/10/12)

Form No. 08-078



